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Note :- Attempt nine questions in all. Question No. 1 is

compulsory. Attempt one question from each Unit.

1. Attempt any nine parts :

(i) Give importance of agriculture in Indian

Economy.

(ii) What is Intensive Agricultural Area Programme ?

(iii) What are the main characteristics of Indian

Economy ?
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(iv) What are the main problems of industrial

developent in India ?

(v) What are the causes of low profitability in

public sector ?

(vi) What is the difference between cottage and

small scale industries ?

(vii) What is Federal Finance ?

(viii) What are MNCs ?

(ix) What is Balance of Payment ?

(x) What is disguised unemployment ?
.

(xi) What are the thrust areas of twelfth plan ?

(xii) What is Consumer Protection ? 9x2=18

Unlt-I

2. What are the main objectives of Land Reforms ?

Discuss their implementation in India. 4, 14

3. What is Green Revolution ? Discuss its achievements

and shortcomings ? 4, 14
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Unit-II
-

4. Explain and critically evaluate Industrial Policy of

1991. 18

5. What are the problems faced by small scale industries

in India ? Discuss the steps taken by the government

to solve them. 9,9

Unit-Ill

6. What are the main features of Indian's Foreign Trade

since Independence ? IB

7. Give main features of Indian Taxation System. What

are the main defects of this system ? 8,10

Unit-IV

8. What is Inflation ? What are the causes of Inflation ?

Explain the steps taken by the government to control

Inflation ? 4,7,7

9. What is the extent of poverty in India ? Discuss the

main causes of poverty. 8,10
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TlcF
-

1. «Ptf 'ft

(i)

(ii) WR ^T ^?T iftTIFf ^TT t ?

(iii) MRcfa 3T«fs|crf8n

(x) Y5^ "^^l^llO ^TT % ?

(xi)

(iv) *ITC3 ^ 35RdlP|eh ftcbW eft Tigil ^RFT^ ^TT f ?

(v) ^IcNpfcfr ̂  "̂  " c "

(vi) erg ^«n f^ ^rA efr -s^ff ^ ^n ^RR t ?

(vii) f̂N? "f^rf

(viii) MNCs ^FTT

(ix) ^TcJFf

(xii) ^T^|5RIT m^T ^qj t ? 9x2=18

2.
4,14

3. fft?r " f̂fir w % ? 5^*1 BHdf^^T w wftRrf «Rnpri 4,14
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6.

8. '̂ ^ ^T % ?

4. S i i s l i c h " ^ c T , 1991

18

5. *TOT ?FJ "3̂  ^ ^TT "^FTFTn ?

% 3F9T ^J^H '3ST% f 1 9,9

7. ^Kdl^ "̂ RT^PT TT^TToft

f ? 8,10

T | 4,7,7

9.
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2. H-HCra if** H o <J?> ?

>rtf ofMtn^ oft

8. ~H&F H^Ht 5ft 3" ? fe? ^ oft ̂ r3?5' U7> ? tJ6T

bi I

9. F'̂ H f¥% araM Ft Ht>F oft & ?
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oT& i 4,14

3. U^t oTBt oft 9" ? "feH tft §If<M)^Ul»F ̂  oTHtw ^H" I 4,14

4. i d M d l o < ? 3 , 1991

' 181

5. ^^H" f¥% ?W Oti Wdl f Ht»T oft

oTU?T ̂ St TT^oT^ S oft oTETK B^ U?> ? . 9,9

6.

fe&Wd1^' ofl" UcT ?

7. ^3 t̂ oTcT U^cfl- ̂ ^ rRf fe&H3^ FTR" I

r , 8,10
HI


